Efficiency vs Dxy(PV)

)
o
o

I
~ 0
T

o
ey
T

efficiency vs dxy(PV

o
2]
T

I
»
T

o
w
T

.....................

o
)
T

S E—3015-10 =5 0 5 15 20 25
TP dxy(PV) (cm)

0.1:—--i---r

Ratio

—"— DQM_TT_original

TR

0.4-0. 02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

)
o
e

R AT s
LT A -
o +§#*”* i

Ratio
o
&
H —
e
: o=

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8p

°
o
T

Ratio

o

o & ks K ks ¢

mm—— = AL cansraien) LA LL) LARL) LRI LAL
3

efficiency vs dz(PV)
o
(o))
J
e
-

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


